/Reconstruction/MdcPatRec/MdcxReco/MdcxReco-00-01-59/src/Mdcx TrkFinder.cxx

MdcxFindTracks dctrks(seglist,m_debug); XTI S EITE(E

8 12 W1 ;ybes3fs/offline/data/raw/round05/120613/run_ 0028593 All fileO01 SFO-1.raw

event num = 327 Trk Finder time = 12017.5 hit_ num = 193

event_ num =440 Trk Finder time = 66690.53125 hit nhum = 614
event_ num = 695 Trk Finder time = 2091.24 hit hum = 86

event num = 1317 Trk_Finder time = 2440.09 hit num =113

event_ num = 2464 Trk_Finder time = 5180.13 hit_ num = 538

event_ num = 5195 Trk _Finder time = 18666.71484375 hit_ num = 295
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/bes3fs/offline/data/raw/round10/170128/run 0048716 All fileO0O1 SFO-1.raw

TEE6IS1814 X1 SHHIE, EE2Y
Reconstruction/TrkReco/TrkReco-00-08-59-patch4- sIC6/srC/T rkReco.cxx

for(int ii=0;ii<nmax;ii++){

ndrop=rr->DropWorst();
if(ndrop)err=_rkfitter.fit(*rr);
if(err)break;

}
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circle time = 100.899
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